mm

Dl

Caaliw chm
2

Cm

14

0.0078

16

0.049

18

0.017

20

0.096

22

0.126

24

0.159

25

0.196

26

0.238

27

0.283

28

0.835

30

0.503

32

0.606

36

0.785

40

1.131

45 gand 428 o LL\AJGA&L\.MJ (b)

o Cuelad jla
kg/ cm?

S5

mm

&LIA}GA G\ud
kg/ cm’

20x10°

40—6

2400

20x10°

90—10

3000

2x10°

40—6

4000

2x10°

32—10

6000

4 fialise glAan 3y (C)

Area of Standard Bars

‘L\ALA.M_,—’IL&*&J‘)J:\L&J

mm

4y 4y ylad gilaann

10

12

14

16 18

20

22

1.54

2.01 2.54

3.07

4.02 5.08

4.61

6.03 7.63

6.15

8.04 10.17

7.69

10.05

12.72

Wt(kg/m)

1.208

1.578

2.00

perimeter

4.40

5.03

5.65

Mob: +93786500292
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[bar size (mm) H Section Areacm |

Area of Bars in Slab (efh’/m) >>>>> o (cm?/m) 4 S e 4 Calie glaan s (d )

Spacing / Bar diameter in (mm)4z 435 ké slaian

6 A 8 10 12 14 16
5.65 & 10.05 15.71 22.62
4.71 8.38 13.09 18.85
4.04 7.18 11.22 16.16
3.53 6.28 9.82 14.14
3.14 5.58 8.73 12.57
2.83 5.03 7.85 11.31
2.57 4.57 7.14 10.28
2.36 4.19 6.54 2.42
2.17 3.87 6.04 8.70
2.02 3.59 5.6 8.08
1.88 3.35 5.24 7.54
1.77 3.14 4.91 7.07
1.66 2.96 4.62 6.65
1.57 2.79 436 6.28
1.49 2.65 4.13 5.95
1.41 2.51 3.93 5.65
1.35 2.39 3.74 5.39
1.28 2.28 3.57 5.14
2.23 2.18 3.41 4.92
1.18 2.09 3.27 4.71
1.13 2.01 3.14 4.52
1.09 1.93 4.35

Example: 6 mm A=6°/4*3.14=28.26 28.26/5=5.652=5.65
- Jlaxtial Gramad
Galisa p C.Lmaeu:—d)ﬂuaju\c_u@ éeﬁgmm@ua:a\m&m:
J\Aﬁ@u/\~~:émuc‘\_'\.‘o)jé_}ua
Exp: A=Area where you use the bar=24 cm”

Bar use area A=20 mm = 3.14 cm? >> >>> No=24/3.14=8 >>> (1- Spacing =100/No= 100/8=12.5cm

100xbar.area  100x3.14
acual.area 24

=13cm

(2- Spacing =
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Callout
Section Area cm

Eng.sohail
Callout
bar size    (mm)
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Kg/m’ Q38 e 93 ga Alaidlu 3
1800 (S 5 Diew)o s (Allas 2 Jlg (dgeme JA A0
1700 (s o) Sy ¢ Cian)o s allias 3 sy (sena Jlid A0
1600 (S saism)epm (Allan 3 Jlsn (Jsara S8R A9
2400 Jis abaie ye 950 2nh
2400 il S ya pe a8 g g sid
2000 s o) (Sic 5 AaSd g 50 shawsie
1400 sl g 500 S o
2200-2300 Fome 2 O Jlsd SIS 43R Jaa 0 gig 58 g gigai
2400 S SIS (S5l s
1440 NS PR PPN ELE PP
1760 A gy Sl a
1410-1840 BT T
1600-2000 o 3lA 4ysh ye
1540-1600 ASdax s
1760-2000 A8 45k je
1800-2000 o (52
1000 s Ay 4 4l
1800 (S s Cian) 4allias
1700 (4 5 S Cian) allias
1600 (S s4) 4allas
1100 (S sgS aallas
600 SO Ay Gy o
800 SAhsh gl a2l
1200 o )l 50
300 BERCBIN
2200 G sl j2
2000 G Sl e 2
1800 o
400 (& &) 4
2600 Al
1000 -
200 STIERtY
400 23l 5 oaal
900 &
7850 gl 5l 2V 4
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